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2O& 1,000 [ 113.10.08 | A-¢ Fces ~ HELfcrs ~ 2 B ~ & £ ik
rO? 1,000 [ 113.10.08 | A€ fcBs ~ HEpderes ~ 2 54k~ 3 £ 10k
ZO% 1,000 | 113.10.08 | A:¢ fcBs ~ HELFces ~ 2753k ~ 4 £
w O 1,000 [ 113.10.08 | A€ fces ~ HErfers ~ 2 B4 ~ 2 £ ik
Oz 1,000 [ 113.10.08 | A-¢ Fces ~ HErfcrs ~ 2 B ~ & £ ik
T O* 1,000 [ 113.10.08 | A€ fcrs ~ HEpderes ~ 2 B4k~ 3 £ 5k
% Odr 600 [ 113.10.15 | AL FcEs ~ HEpfers ~ 2 B~ 3 £ i
302 1,000 | 118.10.15 | ALg #e2 « & didess « 47830 « £ £ deib
204 1,000 | 113.11.04 | AL & #6004 « & 3fers « 2 800« £ £ i
rO? 1,000 [ 113.11.04 | A€ fcrs ~ HEpderes ~ 2 54k~ 2 £ 1k
2O 1,000 | 113.11.04 | A-¢ fcBs ~ HELFCEs ~ 25k~ 4 £ 0
O 1,000 | 113.11.04 | A-¢ fcBs ~ HEpfces ~ 475k es « 2 £ ik
Oz 1,000 | 113.11.04 | A-¢ dcBs ~ HELFCEs ~ 2 753k ~ 4 £
202 1,000 | 113.11.04 | &b g #em4 « & sigent « 2 armh « £ £ o
2O% 1,000 | 113.12.03 | AL & $e0b « & dtfers « 2 850t « £ £ i
2O 1,000 | 113.12.03 | 4 #0845 « & ggiess ~ 2 ks « £ £ goi
ZO% 1,000 | 113.12.03 | A-¢ fcB ~ HELICEs ~ 275k ~ 4 £ 0k
O 1,000 | 113.12.03 | A€ fcB* ~ HELFces ~ 27530 ~ 4 £ A
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1,000 | 113.12.03 | A-¢ Fces ~ HELICEs ~ 2 BF B~ 4 £ ik
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1,000 | 113.12.03 | A-¢ fces ~ HEpfees ~ 2 B4 « & 4§

2,500 | 113.12.13 | A& $e04 ~ H¥Efent ~ 4 B4« £ £ fri
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